101. Match:
Triks

(a) Masad
(b)Y  Saami

{c) HKalings

{d) Bush men
(a) ()
v:
B 2 1
i 1 3
(o 4 3
G g

{a) (12}
Ay 2 i
|y 12 1
(Cy 1 2
o 4
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102. The Partuguese Sailor who reached Calicut in 1498 A.D. was?

(A} De Almeida

# Vasco da Gama

)y Raobert Clive

i Albuquerque

1498-1h LoD senafl&Zam’ oo ey Sl E{Jnr’rﬁﬂ#ﬁﬂu gl wimi? @\

(A ge-odBoder «

B)  awrddsmsmnon
@,
(C)  gmuin Geerds O N
O susis \e\\$ \Fv
vc’g\@l~
P

108 On behalf of the Justice Party(who wen [mi formed the ministey in 1923 alection?

(A) T.N. Sivagnana Qﬂai

B P Thjyagéa& Chettiyar ‘.“un!‘ bd S #

© TM

1’2?~W§?:;u Hﬂlﬁ:' '5'. ?ﬂ {“)
Onw How O\ ot

1923-b qgein) B Qo Caipald BERCA snivins Qaupfl Qudg g feow srewdgat wri?

(A} T.N. Aaigrend Seroe

B)  P. funsgng Grcsuni

€ TM prui

Ly M.C, g
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104. The members of the Central Administrative Tribunal are given status of Judges of High
Court from an Amendment in the year :

(A) 2003

(B) 2004

(C) 20056
W 2006

il Biiume o giSisEis euhffodn SSufisre speis mgr&@@;};._ fmisio

GuoifsrsmiulL e | é&

(A) 2003 O@

(B 2004 $C9 ?“\/

© 2005 \e\\

@)

D) 2006

O

105. What is the aim of Prad ntri Gram-Sadak Yojana®?

w Provide all Ji@r road connectivity
(B)

Provy ’hl\li’eather to Tele communication conpectivity
() ide Food Security in all seasons
(% Provide Edusation to all people

“Argwe whHA Sons s_nk Cungess” B 1 Fld Cpnksi | milelandn) ag?

() sreeraBaED SOEEE LMo STadsgigD s asflama smossd
(B) Gsreelsm iy wedsmen SmamEs LT -STRLLELLL gHU S0
() veremig ume-arohsefignd ey ungsniy Gedgd

(D) eetarpasd sddl wadl giund Anige

1}
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106, Find the area of the iron sheet required to prepare a cone 24 em high with base radius 7 em

# 704 cm?® (B) 702 cm?

{C) 700 em? (D) 668 cm?®

24 Qe.f. eigppid g ks Sy 7 Qb Osnan. suby gunfiss Gpantuwimes Emibe ) gs o Ly

NSNS

(A), 704 Qs (B) TOZ Qi

Q
) 700 Qs.ub? (I} 668 Qs.b2 $

107,  The sum of the series 31+33+.... +53®?“ @
w. Y
By 341 Q6
7 i \/\$
(I} ﬁﬂ&}s

o

31 +33+....+ 53 srnp Qg fidn s Bad ereiven

(A 729
(B 34
(C) 504
M 604
= 31 COSeT
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108. Given the pie chart. Obtain the pass percentage of student who passed in 1* ¢lass.

agsed in Firat Class

Ay 35% (B) aa@ R

© 10% W\i%l‘\b?“

Eps el ehlaria Lo el @&@ el Caidfl Quppasisag eflppisa(h
Ni\s

grimen’?

npEes agLnSd Garsd

Carafl Duprse ms

(A} 35% (B) 3%

iy 10% (D), 26%

CCSeT i 32 =
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109, Which of the following programme aims at the promotion of savings ameng rural women?

(&) Jawahar Boggar Yojana

(B} Pradhanmantri Mahila Yojana

{C) Rashtriya Mahila Kosh

d Mlahila Samradhi

Sedreumeaemauppa aEdl b Smmedyp wsafifld Calleu sedmaloushans g@mhu T
)

(A)  gauapt Gamget Gungear ,&

(H)  Orprenad B8R wllam Gumgee

(€ et s wllarn Camaty O

\%
D) wdar nofld \e\\$\l~\L~?~

110, Which of the fallowing policy @u 5 lakiNecres under organic farming?
{(A) Shyama Franﬂgﬁji Rurbnn Mission
v Pmmnnuq’én rishi Vikas Yojana
(C) Pm@lanm Krishi Sichai Yejana
I&V&Fﬂml Bima Yojana

dip o_dren erkQannens 5 el ab gk fadiseoer Supaos Caemanmoddn £ Qeran cuymam?
(A)  dyumes O aeadl maudr By

(B)  unbwrures sflof dlssd Gungen

(C)  Opgsemogsfl el aydeni) Gumgenm

M Aenb. ursd S Cuemgan

= 1§ ccs2T
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111. In higher planta the sporophytic phase 1z formed after growth and development of the zygote.

Point out the tyvpe of cell division invalved in this growth.
3 Mitosis

(B)  Meiosis

(C)  Amitosis

(I Eygotic meiosia

n..l.ul:rl:l.lﬁ:.l-ﬂ. ﬁrra.mriemﬂdn E'hﬂuﬂ':f-j'nah_.l'_lq.i 'Iﬂlh'l'l:l:l mﬁam'_aré: cugnmadl LOTIHD .\'}mﬂlﬂ'ﬂw.

Tis s Ged 38y G QruduBlpg daums sl Ssm[H

Q
w e meshleo O@$
(B)  hwemalie 0
Q

C) el Lrald

X
III']- mplEEm K & WSwimeleh O

112. Kuhne's tube can demo %[he process of

B W Fﬂrmﬂﬂmti&$
(B) Germll‘f%\mnufmdu

L] (:5?]::1{ plants
(@R;Umhl: respiration

e i s Sspencu BrpSipid
(A)  Gergsse

(B)  eflong qpenargsd

() poeuy cuminsdl

(D) srppecw sasiliad

CCS2T =

1]



il

113, Who was the founder of the Thiruchenkodu Ashram?

(A  EV. Ramasamy Naicker

Vv i

{C) Gandhiji

(0 C.N, Annadurai

BzsladiCan) phnosas Hpyeluet wnty @.‘
(A) B Qe pmosmd gk E«Q
(B) oy ; O@

. O
e E\ohad
ETER. o8 T GO 5G] O
?\
OO$V
114,  Annamalai Unim'erail%édud in the year

(&) 1915 «$
W |EEB’5\
¥

1945

<SRN LGRSO SLnbSksru L Sy

(A} 1915
(B) 1929
1921
(D) 1945

36 CCS2T
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115, Which one of the follewing Parlinmentary Committes is Semi-Judicial in nature?
(A) Committee on Petitions

(B)  Ethics Commities

« Committee on Privileges
(I

Rules Commities

Epbsam_ umymgwdpd gopdsaiidl ais am sep urd fEuflunees sdamonmong?
(A)  cAammmius mp

B)  opdpdi s O@$

(0 Apoyfeowns mop

M Bk mop \$Ci~?~\/

116. The Constituent Assembly of India @th%rdiug to the proposals of
(A}  The Cripps Mission 60
w The Eahima{&ﬂan
() The Mﬁus tten Plan

(0 Tﬁsmru Flan

_@g:-jizmlhq Hiitemr seou wmmenLw aperG@liomfaiiae sy luaLdd giulBisiud Lg?

(A) e Wi

(B) Calan Seye Sliw
(2 weysEnl Gulss Slub

N GCemdiob

ces2T 36
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117. At what rate of interest compound interest per annum will ¥ G40 amount to © 774.40 in 2

YVEars
(A) 8% (B) 9%

V 10% ) 11%
el m ) ey @8 erénen spclpifd m. 640 speng Fran() e eafa @ 774,40 b7
(A) 8% (B 9%
i, 0% : Dy 11% «

N\

118. A circus tent is evlindrical to a height of 3 )&u #ﬁ: it. If the base radius is 52.5 m
and slant height of the cone is 53 m, @S canvas required to make the tent.

(A) 315 rm? $?‘
W 3075 7 m? 60
(C) 27825« $Q
(o) mé:‘s\m
@R*Em mmonengs 3 i o wiggpner o genemiiis g Suibey Sreenpn Gundip s gidg
S s (0 gy 52.5 15, subn smuyuimh 53 5 refi, s simnsg Gpmaruner digni
gefielen uplieouk semedlfs
(A} 315 z R
(B, 30975 o

(C) 2TBLO mof®

(D) 2997.5 x &

37 CCS2T
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119.  The principal amount triples itself at 8% per annum over a certain time., Find the number of

VIEATE.

(C) 30 years
(D) 35 years

SO BEALE L sewnay 8% il dsidd afgmen gy Daefld ppenm ki, L‘@a‘; ETEETAT
(A) 20 sugpissar &%

(B) 25w A CJQ/S
(C) 30 ey rsmar C?

(D) - 36 ENTL T \e\\i

120,  What number should be auhtmc@f@ea&ﬁe numbers 54, 71, 75 and 99 so that the

remainders may be pmp-:nrlim'@

Ay 1 «$Q

54, 71, 75 wigd $9 eep galuny aergnigrh ais cdrmn sflsand e Eeb
BlEi B Bmiab?

A} 1
(2) 2
Cr 3
N 6

CCsaT a8 =
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. 121. NREGA gives guaranteed emplovment for
| (A S0 days -

i p"im days

(T} 150 days
(D 200 days

Ceflu paps Geemsr amidiy flp (MREGA) Gesns o gfimessh D Ig.rrgaqﬂ'.a?r
i ol «

{A) 50 gmsa @$

B 100 pniedr

(C) 150 pm_sdr Q@O ?“\/

(M 200 mrlser Q

Qummer whmpn Grae awfl (GET) ey apprlgd Gamdflug?

(A)  senn

(B) sQofes iy peli
Xy il

(D) QOgiwad

43 CCsaT
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123.  What is the basic concept of Raman effect?

(A} reflection

w incoherent scattering

() coherent scattering

(I refenction

mne eflenane) s LEsQEMS S LU UrsE Qg7 @\
{:‘l] I.q-',lﬂuﬂ!;luq E

(B)  gifdar geilsfznd O@$
(©)  gispaifispd O N
(1) el chload ®$ ?“

s
124. The Epsom salt which is used :@:g{w_- $
w Mg80, -TH,0 $Q6

®) Eusl:]*-?_{,&
5oL
{Q?“ gii’:ll,-!'.nzc:l

wseh Deorifiurs Lwdny LSSy LD oLl ey

€ 2z

(B) CaSO, 2H,0
(C)  ZnS0,-TH,O

M) CuS0,-5H,0

CCSs2T 40
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125.  Humboldt ocean current is otherwise known as
(A Kuroshio current

{B}) Owashio current

J Peru current
(D)

Florida current

mli:a-&:.-.@l'. Bl b @eaimprsegi sifludu @R
A} alyreflur BCmmly ik

(B  gumeGun BGrm” L

(C)  Qug Ayl ih E

D) v BemBer §Cpm e i C}\e\\

126.  ‘Sea Smoke’ is common ::60

(A) Hnuumﬁ:l{@

(B} Demyskginn
iy A :%lcm:enn

@\ﬂ:!ic TEELn

"BLR GO STETTETILES STERLIFeR
(A e Gpes ugd
(B} unms.u-m Hrssn
(C) s anemei CLgmfl

D) ek upd

i1

CCS2T
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127.  Where was the first Indian National Congross met?

(A} Delhi «Eﬂmha}r

(C)  Caleutta (0¥  Muoadros

apge @A Gefu smidyalids sy el sogum?
(A)  Guad B)  ubum @.\
o
(C) sosppr ) Gsdme $
> &

| Subhash Chandra Bo ?\ ?\
G i QO$?®

(B) Motilal Nehru Q

(C)  Rajaji «$Q ;
©)  Faa Rafobin By
AV

ag:?m; e s 8 wrgmds Qs L g7
(A)  sumdy spfaCumay

(B)  Cunfeond Cag

© g

I:J]:I grjga gimn Fonses gmia

cCsaT 4z =



gl

129. When was the “Industrial Finance Corporation of India” established in India?

[
|
‘ (A)  January 1, 1950
1

W July 1, 1948

()  June 5, 1951

(D) May 1, 1950

“Bifu Qanfe Dfssipat” Bidondia altlumys gieRisou g7

(A)  mesafl 1, 1850

&
(B) gPeawl, 1948 @$

(C) e 5, 1951 0

Dy Gl 1950 ® %
OVC; .
130.  Which is the higgest naunnm@&pri o

(A)  Bharat Sanchar smited

(B} Indian Plit,’&p riment

W Tndi@lwa}'ﬂ.

[DEE wiand Natural Gas Commission

s iGufie Gueginmp S oy
Ay Soerdoerdn.erd (BSMNL)

(B)  Bifusgsd gap

(€} BEfw rSdta ga

(I ereirllesrd T Hmesend

CCs2T
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131. India's first bao-fuel Qight wos operated between
Dehradun to Delha
()  Dehradun to Mumba
()} Dehradun to Kolkatta

(I  Dehradun to Chennai

Brfwrelcs apadd o B8 - aflGummed elwmend Siielm pamssniden G B L)
(A  Gupefer — Qisnd ;«
(B}  Co_prfBer- (D O@

; P pm{Ren — Qamdmgsg O \/
(©) 'i:Lu s. Gandiany \3\\$ g
(I GugmBen — Qedranes O

O

132, In which of the rl:'r]]ﬂh'iﬂ@l L moare number of people were affected by 2008 monsoon?

w Kerala «$
(B) Asa \

{C) ?;)U:‘:‘l Pradesh

{D Megalaya

& wren enbwonBleog S 2018 wmen wanpulesnid sufls wisar Ll pEaramdani?
(A)  Caspaff

(B) ~ s#md

(0 ki dolssb

(LN Canms o

cosaT 44



Find the G.C.D. of " =1 and o® -1

133.
(Ay a*-1
(B} wa+l
@ a*-1

() a*-1

B a+l

G a*=1 ?‘
O

M a-1 Q $

134.

What per@\ grams of 1 Kg?

(A

‘E’Fﬂlﬁﬁ

1 &G Sgmpes 5 Sgmb % enen?

45

(B)

(B)

{1

1%

02 %

0.2 %

CCS2T
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: 135.  According to 2018 = 19 budget report, India is at third rank in
w Purchasing Power Parity (PPF)

. { (Bl Gross Domestic Product (GDF)

| ) Agricultural Production

(D)  Foreign Direct Investment (FDI)

2018 - 19 g fiflene syfidens g Sdmumb aabpdr SiHur apapmie il o srmg?
| () eumisgid ode sofieow «Q§/
(B) Quagsedpa’{ o fusd Q@$

(C) * Couammain o gl €
D) o Gomg ppdl \e\\$

136. Which currency is recently &@ in thE%@nu}' basket of IMF?

| )
: (A}  Japanese Yen
f w Chinese Y&:$Q

N\

) Ingigndupes

(L) zalinn Dollar

gL p pramen sbugll IMF-& pramus swecuBii Cridsiu L g?
(A mourefic Gt

(B)  eosanmeln upmmen

(€} Bedu mumis

My BCedafludr o

CCs2T 46 B



137. A preparation of living (or) killed mlcm-ufganiam {or) viruses used in prevention of diseases

138,

138,

il

through immunization is called
(A} Toxoid ( Vaccine

(€©) Viremia (@) Anti- toxin

sdmaren (=) ealphp merefiy el iaqfl oapmsma Bib oL digydr Qegeifl puois
afiony safen B SRIrsgansD e Guwr?
(A)  LmEsmisp B) pHOy ek

(C)  elfiufums M) afli—pis «

The source of energy in any eco system are O ?‘\/

(A)  ODsmotrophs &?&*ﬁ

(Z)}  Lithotrophs rotrophs

OV N

Bipmadud ol @a&gﬁ@

(4 ageolun mmbg (B) ap Cr weivn s

€ gl mn}{$ M GeusiGay wemn wd
» '

o\
?;%ﬂ R[u:.u destroya the vegetation, because it contains
(A

Nitrates (B Czone
0 (Cadboki monoiids W Sulpbvrie asid

Sulle wopuTEy Seaks sTaghasyb sylimb gemmaeeL gy defld sfd sl
B aemeney

(A eplCn (B) gGomen

(C)  ambue Guomanrdans (i) (I sy fs siflax

47 CCS2T
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|j 140. Where was the first nuclear reactor of Asia established?
| : L

(A)  People's Bepublic of China

(B} Japan

' () Taiwan

s sein B Apeonans i ke wing Speoul L g?

(Al wesdr fad @yugs ; é&
(B} mluna
<

(G} empeame 0 \/
l D @sdun \e\\$ ?‘

O
141. Who assumed the li.l:]l:_"ﬂhil@agaj PulN ?\
(A Rajarajal Q
(H Namhiw{&
Vn/ M@m Varman I
@?;}nndhi Varman

“ R Bnsrnyd” e aime Suwd g il L e wei?

(A)  qppamh grgITGER

(B)  qeswnd prfidod

() gppeamb uCsaiSy ashods
D)z i

CCs2T 48
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142,  Which one is not part of the Panchayat Rap?
(A)  Smiti
(B) Village

w Township

(D)  Zila Parishad

SRS G uEAmug regukBd Rdano?
(A} owd é\
B g

<

(C) psflub 0
D)  gheosvn flang \e\\$

‘ot \2
OO$?“ _
143.  Which part of the Indian @ﬁnn deals with Fundamental Duties?
{A) Partll Q
(B) Partl I\ $
v’
a A
@?étrt ¥

i G gqﬂmlwﬁﬁ umdde aBigmrssoul Paang?
(A)  wmaai 11

(B)  comaad 111

() umeb IV A

(D) wrsi V

=t 48 ccs2T
[Turn over
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144.  Area of a square is r hectare. The diagonal of the square is

|
i w 100 metres
(C) 5042 metres

My 60 metros

‘ (A} 250 metres
|

‘ S AgT sl UL ETRY % ETEET, sTalki -g,q._ﬁ.ﬁ:ir Aperaeili_L b @b\

(A) 260 Blok

. s &
(C)  50vZoLs \§S§2> ‘;5/
(D) 50k O\e\?\\l‘\l‘

145. The surface areas of two apé:‘re in the ratio 9: 25 Then their volumes are in the ratio

(&) 27 .: 75 «$Q

B Cemrdisalar ypdiuniumegsar 9 : 25 o Bdeifle o dwrg. sepfan e asamapnaficr

efgib

Ay 27:75
(B). 27:125
(C) 81:625

(D) 729: 16625

CCS2T 50
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146. Six men working 10 hours a day can do a piece of work in 24 days. In how many days will
9 men working for 8 hours a day do the same work?

(A) 10 days (B) 15 days
vﬂﬂdu}m : (D) 25 days

6 cgamsdn g G grdamdapss 10 vef Cand Cama deig, 24 palsafld qpglu,
9 gewsdn, prdemapsg § wefl Ganb Caumar Qolgnd, afsman prisdds sdfaaaay
g lui?

(A) 10 priser (B) 15 prisdr

() 20 prisér D) 25 peisdr @ng
<

147. A ean finish a job in 20 days and B can :ﬂmplete it jo work together and fnish
the job. If Bs. 600 is paid as wages, then the a E%B,

{A) 240, 360

M 360, 240 OO?“ $~

A erdmusult Gl Geusnaan ; ot 508 Camaaw 30 grrn._a.aﬂg,m (pig L,
(B pviaaymal l:.'."ar'rgﬁ sl sdameny ey m 600 g glad aymamursy Qs
ereafhes A mg]mnh 3 e

3’%5\ (B) 300, 300
(Dy 400, 200
If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the value of x.
a5 (B) 24

(Cy a0 D) 26

18, 41, x, 36, 31, 24, 37, 35, 27, 36 @eupdien sgnafl 31 erafles x G wBoy adnen?
(A 25 By 24
(- D 26

- i1 CCS2T
[Turn over




149.  Black rwnlut:in:n.n iz related fo
(A}  Fish production (B) Coal production
W Crude ol production M Mustard production

aggenis Lol Sueep e Qgm_in jene wig
(A) s e pusd (B) Peossfedugd
(©  shom croinGiomis o il D) sGeebuid

— A8 the front office for Lu@aqn}mﬂ in far flung

150. Budget 2017 has proposed
areas.

(A} Airport Teleg me
vlf' Post office m} C?
2017 dfflever syfliconu@is Ggrane gy ugﬂm@)&u@\ LB RS ABSEI DR ST
gl Esiul g wE? O
(Al eBwren Beoeowin Q P S g eeELh
(C)  gurd Beoawb 60 M  yesaany Smawnb
1561. The faﬂ]:l}@unmd for Senior Citizens in Budget 2017 - 2018 is
r enabled smart card

(KQ-BHIM App

(Cy  Shakti Kendeas
(I Pension scheme

2017 - 2018 B@fww sflsmsdii aois e cdamisns sflcfisiiud L sl
(A SEmmss Bemranliul L Sonam. Sl

B) Geairgeb Qe

(C)  #&f anwowiiimer

(I glpsfle BB

CCS2T i =t
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152,  Which one of the following is the correct composition of Braszs?

(C)  Zn—T0% ; 5n-30%

(D) Fe-d40% : Ni - 60%

Epanaim_auiifla: s sflunes e Carsinseanld spelgh adea?

" (A)  Cu-50%; Bn-50% «Q
B Cu-—60%; Zn - 40% @$
0y Zn-—T0% : 5n — 30% O
(D) Fe—40% ; Ni - 60% 0

153. What is phototropism?
mummentﬁf$ a.rda chemicals
W MCYemen s tawards light
?é‘t of plants towards soil

a ponse of plants for day length

Cum’ GLm pa ndeoh @ennme e

(A) Qo mefldn Coaufl Quepmer Crriu Pussn
(B)  Qruseficn gefl Gpeddu Puisn

(C)  Qsguefich e Cpaddlu Bubab

(D) Qs seficn gafl srefs sl

63 CCS2T
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154. Who started Home Rule Movement in India?

i EV. Ramasamy

Dy K Kamaraj

BiHwreld peran’ A Pudatens cpnindisad wni?

(A)  ecnafiEusedn «
(B)  sifuppisl $
)y wmed I!;ILuﬁ-:.mr'r O@

\%
D) @. smopnsi \e\\$\l~\&?~

158 Tarmnil Books were Fﬁl@%tl}‘ by whom?
w Rev. Elﬁw@

(B) Rev. %\nm

[pme pgeons gallp LS ssismar Sedfl Lt wnid

(A)  Feemumiyg g

(B)  saumilew unfflumh

(C)  Emem_d g
D peuml g GemAd

COS2T 54




156, The institution of Lok-Ayukta was established first in the state of

(A) Gujarat WMahurnhtm
(C) Rajasthan (D} Herala

Gard-Sgudsn npsen psadid ais wola i swwssouceg?
(&) sgms (B) wesp=chlgr

(€} mogeogsdan (I Cmgern «

157. Who said "The Directive Principle of State @Qa@é feature™ of the Indian
constitution? O\e\ \EE

(A) K.T. Shah O

x B.E. Ambedkar O $?~
(C) Aladi Krishna (;R?ym

B.N. 3 «
AV
| @mﬂmﬁﬂﬁ: “sups anflam’ @ Gedopaps 'ﬂmﬁm G weEponer uaRy” g

sy wmi?

A KT er

(B BR susCugst

L e

0 e Smeyamsmil Sulwd

(T B.N. gmeu

= 55 cCoseT
[Turn over
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158, [ldemtify the mismatch

(A White revolution - Milk
(B) Green revolution - Food grains
(C)  Blue revolution - Fizh
d Yellow revolution ~ Flowers
pupeam Quiggsias sanGsssagh Qg’\

(A)  Qevsdmans ymnlf - LImED) @

B}  usawynld = By g,':nﬂu.ll.hO

€ Baunld

l (D) wensdr yeldl % : ?‘

o
st/b
*

159. National Apri ral policy aims at a growth rate of ——— % per year.

(A) - 3%)? w/m
oA N

Leblu Ceuemas Qerdmsusany ey ———  sedds warisflaw Gumésnns

i amenygy.
(A} % (B 4%
iC) 6% D) &%
CCs2T 56 =



d

] +
160, T]-.Hnlmn:-f'g;:g is
2
(A) 3
16
El
9% 18 . .
16 — & wHoy
a
W 3
16
() T
161. Tha cube root of 0.027 is QO
R N
(B) 0.003 $
© n.o§>>\
(0.02T) e maw ppseh
(A) 23
(B) 0.003
() 0.03
@ 03
. 57

®) %
o 2
, @Q&
® 5 ('JQ/'
o)

CcCs2T
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162, The crop which gets affected by pink ball worm is
(A} Banana

Bemgs ey uis yopeurd unBEsOLBID LG Q\@\
(A)  aureyp

(B) Gamgeown | : O@$
(C) wa $® ?\\/
she NG
O
Q
163. World's first Block chair@‘wsa launched by

(A) Reaen'elﬂ{ ndia
w WurlSEank
{C) g%ﬂung Bank

@?\&mu Bank of India

oaifiem apge Block chain ugfrgeas sflpsiu@ifo wid
() Eesu A amid

(B) eaosaud

(C) s ekl

(D) @i sl ekl

cCsaT 58
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166,

164.

1 Femto is equal tg —————mi.
10 « 107
@ 1wt m 1w

1 GG m{Famtn) = m— S
Ay 107 (B) 107
1wt D) 107

v ® N
SR
© | 613‘\4@17

v

ich of the fallowing is sensitive to ultrasonic sgaves?
(&) Man J Bat
{C}  Bird Dy Fish

Csem gellanw o @mmid Saaw wrmEE wdmng
(A) wellges (B) Ceuareund

0 umee M ufidn

i1

CC521
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167. Which of the following statements regarding soil are correct?

L.

ML

Iv.

Soil is a dynamic natural element
It iz composed of both mineral and organic matter
The characteristics of soils depend on pavent rock

All the seils having a well developed soil profile

{m are correct Qg/«

(Ch

(o)

UHsineummh wei &l Ssmen mn&l@
S

&

I, 1T and IIT are correct

I, Il and IV are correct ('JQ/$
[, ITI and IV are correct $® ?\\/

?\
sé?@nw

welt wrgilh ;ﬁg@uﬂm v amyenfl

IL EN?@@M WD o ST W s SRy

1o

(A)
(B)
(C}

(D)

CC32T

IIIvs aufign gy e maiman ureppuilman QumpECs sauwddamg

SIS (E sushERIEID ssataflucL s @pde deul [ Caappians Canams mam
<SiEmeEmEgnD #AGW

I, 1T b 11w B s

I, 1T wigd IV wl G s

L, 111 gy TV 10 @i o
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168. Metre Rail Service is available in

(Eh&nnaj

II. Coimbatore

e i

II. Trichy

IV. Madurai

(&) Tonly N
&

By TandIV _ @é&
(C) TandlIl O
@ MandIll $C9 ?“\/

Gmt.fljnquﬂﬁ;ﬁamau,ﬂtﬁa@ O$?~
L Qedsesar Q6
N

A Towlpe
By 1 mg'\-y-:h v
Iy Twggoll

(D I wage I

= 61 CCS2T

1 [Turn over



169, Which congress conference was pttended by Bharativar?

« Surat Conference
(B

Madras Conferance
() Bombay Conference

M  Lucknow Conference

s smiadirel wrpmigd urnBlumt s Bsmammi?
(A)  @rswaErp
(B)  Csdenar wmmmb

() LiLbLimEs i {h O
M &l wrsmE \e\\s

PP

170, Who extended cn-nperatinéﬂi'l’wﬂr?

(i _ﬂg%ﬁrtugueae
?'}h{' Duteh

Ll ECEanmie Satey CanBiseunsd wrid
(A)  SGmsnsang s

(B)  apbCawise

0 GuriksEfwrse

(I As&srpisdr
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171. Complete the series 1 ZA, 3YB, 6 XC, 10 WD, *

(A} VE
(B) 15UE
{C 12VE

Mﬁ VE
124, 3YE, 6 XC, 10 WD, ¥ g suflenpanws firiys

(A} 14VE
B) 15UE @é&
C

€ 12VE

(D) 15VE \$O\l~?~\/

172, The product of two numbers is 10[2(99!1@ C.F.is 5, the L.C.M. of the number is

e
(B) 1605 \«$

1595
m 8 3

¥

B corsafidr Qumisd Osnans 1600 whph swocacfid S.Qura, 5 aafld camsafian 880,

B
(4) 320
(B) 1605
(Cy 1595
(D) 8000
= &3 CCszT
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173. Find the difference between simple interest and compound interest for a sum of Ra.8,000 lant

at 10M% p.a. in 2 years.

(A) Rs.70
o o

{C) Ra890

(D)  Rs.100

. 8.000-k3 10% wiy dsgfa Boend garfsald Sm dmb sl () wlssbs

i io

v ellunsiongs sneus.

&) 70 ¢ @é&
@,

(B) .80 %O ?‘\/

C @90 N\

@ 100 Q\e\ ‘l‘\{‘

174. The national fruit w@ common for Phillipines, Pakistan and India is

(A)
(B)

g

‘E!hmrm:'n’ﬂ5 \«

Bl anusmaty, urdldusmer wppnb FEfw prBsafia Qungeiman Gl Ligh

(A}
(B}
{C}
()

CcCs2T

EJHWEI
St
LT

LT
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E — .
— =i

I

Golden Handshake scheme is associated with

(A
(B)

Establishing joint enterprises

Inviting foreign companies

(C)  Private investment in public enterprises

w Vaoluntary retirement

gros conggpigin S b g e SR i e gy

(A)
(B)
(C)
(D

sl (b Spesembsaar o hansssd «
Qeuafips’ i Bpesermsanar S |psd O@$
pe Bipaueriaais goflung gpsdi

EBlTHL gy \e\\$0\{~?~\/

Which of the following udwme@%ubjﬁe to skill 1 erore youth in the next three years?

(A}

()

Start up, stand uQ

w PM Kaush ﬁ Yojana

M

(m ?@ Daval Upadhvaay Gramean Kaushalva Yojana

Qésauih arhs S SDES WD eeDsNE 5 Cany Peaomgéasdi Bpd Gobun spass

BRI LT

(&) S minl a0, doumens S0

(B) S.mb Gsarsd disme Gumgen

(C)  enboerén.pd B flar.

D) Eapesd curpurd Agmbd Qsaregéw Cungesn

65 CcCs2T
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177.  Match the following :

(a) Ranthambore 1 Aszam
(k) Manas 2. Jharkhand
() Nagarjuna sagar 3 Andhra
(d) Palamala 4, Rajasthan
(e} Indravathi 3. Chattisgarh
(a) (b) {c) (d) (e)
% 4 1 3 2 5
By 4 2 i 3 &
iy 1 4 3 fi 2
(D) 3 1 4 2 5 N\
oA
o \2
OunmEps. . CJO $?~
(@)  pemgmbyyr %Céwmb
) wremd $ 2. geisdn
{e) Mmimng\(;rr& 3. mEfg
(d) 4. Benggesgmen
{Eqm‘““‘lﬂ 5. safeusn
{a) () (c) (d) (e
A 4 1 3 2 5
(Hy 4 2 1 ] ]
L 1 4 3 G 2
Dy 3 1 4 2 5
CCsaT i

il
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175,

178 Who converted Mahendra Varma I feom Joinism to Saiviam?

(A) Sambandar A‘ppﬁf

(Cy  Sundarar M Perundevar

appand wisidranomea age usifdmis ara osHbs wipfiuead Lme?

(A)  sbupss (B) smiuf N
&

(C)  ebgrs (D)  QumpGeast «
| &

Mame the chieftain who patronised Kakbal
® Ay QOog?“
(B)  Adhiyan S
IR\

Anji \
®) .3-?:5
o

sloer gaflge Cumhfiu Appeed Guuengd gfldnS G,

(A) g
(B)  sifwd
(G umf
D) mgd

cCsz2T
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180,  The idea of concurrent list was borrowed from
" (A} British Constitution
(B  Canadian Constitution

(Cy  Irish Constitution

M Australinn Constitution

Quegiucgwe ged smis Gupdiu’s g Qg"
(4) Bl srfwamelSdlmiy
(B)  seurdldn srfusmodGalmis

(8] au..r-iwrr;iﬁsin mﬁmmmum?ﬁ \e\\$® ?“\/
I sl Cowmellar J;MMG‘:%;@@?\
OO$V

181. Inwhich vear the Parli g}na:ted the Official Language Act?

£

"t

AhE LD urgmssodnESd sgreud Gumfl slob Buopstuleg?

(4) 1955
(B) 1965
(G 1963
(D) 1957

CCsaT 68



182, In how many vears will a sum of ® 1,600 amount to T 1,852.20 at 5% per annum compound

interegt?
J By 4

(€ & o 6

T 1,600 gpempm 5% syaw® sl () el eisb Qe aipeer parpaciio T 1852 20 S s’
(A) 3 (B) 4
() & m 6

A
183, Simplify :
. e &

S
@
3 7 |
! 21
| g2l
| {.M 60
I 41
- f—
(B) &
41
i) &'E_I'.'Il
21
B [l
(D) a0
= L CosaT
[Turn over



184. I ﬂ‘-'-'IJ=!:'-'-r"=":+":|=JE,T]m|:| the value of & is :
e i b |

M a+b+e i

ﬂ+b=b+:=f+u=k:nﬂd}kﬁmﬂﬁq

¢ o b «
: o
e % ‘?‘\$ g

My a+b+e

185. The ratio n[gﬁﬁ girls in a class is 4:5. If the number of boys is 20, then the number of
girls i ?~
@ 15 By 20

25 (D) 28

g aElSe wrerwisd, wrardudsd dlfnn 45 wremwisela aareflios 20 aafld

wramelwfla asrmilsms
(A) 15 (B 20
(CL, 25 M 26
CCsaT 0 =



186. Which among the following industries generates invisible exports?

(A} Fishing
J Tourism

() dewellery

(D) Handicrafts

Semsumrimappd yaiuons gopeden Cerepeioug

(A)  Bendly Qpndd <
(B} sbges gap Q/$
©  ayurowQgnfié QO

D) esdmand Qurmisd \e\\$
‘SR\S
O N\

187.  Which of the following agri el mmﬁr of Indin gives largest interms of export value?
(A} Tea $Q
W Eaamn@

Bénauh srésGasmranans o uid i ureden ssone ghgod whlmu sEdang?
(A)  Cpdaa

(B)  umsond il

(C)  ppuwes pCysd

D umsd

4 71 CCS2T
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188, What happens in the reduction process?

(&) - loss of electrons

v’ XN nmra

(C)  loss of hydrogen

M} gain of oxygen

SPEs dlmandio Spiscm_aupii odem Sanpdpg?
(A) e gnendr @iy |
(B)  eodileemser gy : @®
@)
(C)  aniogen Fpoy Q
D) aysadge iy \e\\$ VV
‘SR\S
O

188, Galena is the ore anE‘u':hé b fq}]]un-i&ama?

e AN

sdenn crénugy Bpssdm bl o dre ais o Corsidin gepiQunmea?

A Qesrad
(B) b
€  piosid

D) By

CCsz2T 1a

u
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191,

192,

Mage the place where the River Goangn and Yamuna joins?
Allahabad (B} Hyderabad
() Delhi : (I Agra

AdiDa g, Ligpener b shfkme S gl Quut e
(A smamung (B)  opperrusg
C)  Quid (D}  capign

Mame the dam constructed neross the River Sutly

(A} Hirakud dam @$
# Bakra Nangal dam OO

(© - Kosi dam \$
o3

(D Mlettur dam

A e Spniiar gmata J.LLIJL:]L@N&E@ =]

(A aflomsl S C}

B wlom - gl
{C) Css=
Gw

#l 2
™ Léis\w
In which vear Madeas Mahajana Sabha was started?

(A) 1881 (B} 1882
() 1883 W 1864

it pei(h Oesmen wanpen seu Camppalision’ L g7
(A) 1881 (B} 1882
(Cy 1883 (D) 1884

L ceseT
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193, Which Act provided Provineial Autonomy to India?
(&)  Rowlatt Act — 1919
B Minto- Morley Reform Act = 1909
w The Government of India Act = 1935

i Montagu-Chelmsford Reform Act - 1919

aig slLib Pifwurdps wifle sunlf syfsmiag e ?
(4) Qpemer s Lib- 1919 ,&@

S
{C) E;ﬂu-&u‘ﬂﬂlﬂdmm_r_m 1435 O@
(D) wreeCLg-Qebe Oueiy fiflmess H_Lm—@\b?\
0 v
o\
194,  Whom of the following was the C@Q knl’th} Revalt of 1857 in Bihar?
Amar Singh 6
«Iwnwm {%Q
P"MS\
(D) ddin
¥
?I;?-u': e swspfar Cuegy Spssem puisefid Ssri yplfda goidaariurams
EmEseui wri?
(A)  spordln

(B) eelim-wamall fofimee s 1b - 1909

(B)  madsapmn Sl
(0 Sl

D  Bwie fd

CCs2T T =

T ——— T



195, As per 2011 census the total urban population in the state of Tamil Nadu is

_ (A} 27.48 million
w 34.95 million
() 36.04 million

M) 42.50 million

2011 s Qerms sansQsfinSdn e SlpEm id BT whsEr Cirms
(A E7.48 bl

Q)
(B)  34.95 Sebaluie Q/$

(C) 3604 BaxBuwer 0

N
D) 42,50 B \e\\$\l~\{~?~

?\

196. Which district of Tamil ijé@u:es the ;:igheat output of food grains?

(4)  WVillupuram Q
(B) Cuddalg «

% T)g%}r
W

SR g g w1 iHd o ame praflwies sflaors e puslonling?

(&)  efigpuuymi
i (B = ged
(€} pesoepl

M) srsulgeh

I CoszT
[Turn over
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197. A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the other he
loses 10%. Find his gain or loss percent on the whole

(4} Loss % = 90%
(B} Gain % = 5%
() Loss %= 1%

(D) Loss%=7%

Bo osissampiss gadardmpyd @ S-dp ol dipet Baany dipdd
10% @arugpd whndd 10% pruqpib Swigks hulg Goapssi sem¥fou L P

Sidag pl L sgaigh srems
W) pluaseph = 90% Q,s

Vﬂ.ﬁmﬁ dgehzai = 5% O \/

B smelsn = 1% ; $ ?‘

(D} gl apefisn = 7% O\e\\ \F
?\

e o

3
Q‘ ﬂ% m 6

SL-HHJ.ﬂ‘]_ SiFli |
|
W 74 B) 7L
g .
5 3
[ 6= =
© 6 o 62
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199, In whech city the farst Nepal - India “Think Tank summit™ was held?

(A Mew Delhi

# Eathmandu

() Dehradun
M  Kolkata

srppsniAi opsd Caomar = @iAwr “Think Tank wepn(”™ pee Quipng?

(A ysmadh
B argwes® «Q“@\
(€ Gognes @$
) Cardeise O
O

200, The campaign to create awareness @?ﬁni:lﬂmﬁ- soxual abuse is

(A}  Safety is in your Hun%(.}
w Our safety, Our
)

Save child, eyt ure

(I ﬂhﬂ$ \:r':iu police hand

: ELDBD MeEmLwnenh st g phasseiian Cu ol Fiuemsie gpuL CodAsndaniuiy
BpaFmm

(A)  unpsniy e medd

(B) g ungsmiyg, po & Sl

)  mpbasusgasiy, afisne ungsmniy

M) @pbms urganiy ssabgop esdd

77
= CCSaT
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